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GENERAL INSTRUCTIONS:

. This Question Paper has 5 Sections A, B, C, D and E.

. Section A has 20 MCQs carrying | mark each

. Section B has 5 questions carrying 02 marks each.

. Section C has 6 questions carrying 03 marks each.

. Section D has 4 questions carrying 05 marks each.

. Section E has 3 case based integrated units of assessment (04 marks each) with sub- parts of the values of 1,

1 and 2 marks each respectively.

7. All Questions are compulsory. However, an internal choice in 2 Qs of 5 marks, 2 Qs of 3 marks and 2
Questions of 2 marks have been provided. An internal choice has been provided in the 2marks questions of
Section E

8. Draw neat figures wherever required.

N kW —

SECTION A (Multiple Choice Questions)
Each question carries 1 mark

1 1 i
=14 —i
IfV2 =141, then == is
(a) 0.075 (b) 0.75 (c) 0.705 (d) 7.05
1

> Ifx =7+ 43 ,then (x+=)is !
(a) 83 (b) 14 (c) 49 (d) 48

3. If (33)2=9% ,then 5* =7 1
(a) 1 (b)y 5 () 25 (d) 125

4. The point of the form (a, -a), a # 0 lies on 1
(a)the x- axis (b) the y — axis (c)the liney = x (d) the linex +y =0
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In the given figure the mirror image of the point A with respecttoy — axis is

W]

T, W0 M
b

@ (6.,-8) (b) (6,8) (©) (-6,-8) _

In the given figure, write the co-ordinates of the midpoint of the diagonal DB.

(d)(-6, 8)

(@) (0,0)

(b) (-1,0) (c)(0,-1) (d) (1,1)
From the graph identify the class marks of the time intervals whose scores are level
Score |
points
"0 5 10152025 30
Time interval
(a) 17,125 (b) 12,17.5

() 12.5,15,5 (d)12.5,17.5
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10.

11.

12.

13.

14.

15.

16.

V7 5
Ifx =T and; = p V7 ,then the value of p is

5 5
(a) = (b) = ©2 ()=
The graph of the line y = -3 does not pass through the point
(a) (2,-3) (b) (3 ,-3) (c) (0,-3) (d)(-3,2)

In a Cartesian plane, what are the coordinates of a point P that is 3 units to the left of origin
and 2 units below the origin?

@ G,2) (b)(-3,2) () (-3,-2) (d)(G,-2)
The value of (xP~9) (x977 )(x"P) is equal to

(@ 0O (b) 1 () x (d) -1

An angle is equal to one fourth of its supplement. Find its measure?

(a) 60° (b) 30° (c) 18° (d) 36°

If the angles of a triangle are (x —40° ), (x —20° ) and ( g - 10°) then find the value of x.

(2)100° (b)80° (c) 50° (d) 60°
If AABC = A PQR ,then which of the following is not true?
(a) BC=PQ (b) AC=PR (c)BC=QR (d) AB=PQ

In AABC and A PQR, it is given that AB = AC, 2C = 2P and 4B = £ Q. Then, the two
triangles are

(a) isosceles but not congruent (b) isosceles and congruent
(c)congruent but not isosceles (d)neither congruent nor isosceles

Five friends Anchal, Amisha, Mahi, Vishnu and Sagar are living in a hostel. At the end of

every month, they calculate the expenses on food and shopping. The table given below shows

their monthly expenses for the month of November. Which graphical representation method
would best represent the data given?

Name Anchal Amisha Mahi ‘ Vishnu Sagar T

Expenditure (in Rs) 3000 5000 | 6000 | 4500 7000

(a) Histogram (b) Bar graph (c) Frequency Polygon (d) None of these
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17.

18.

19.

20.

21.

22.

23.

If one angle of a triangle is equal to sum of the other two angles, then the triangle is
(a) isosceles (b) obtuse angled (¢) equilateral (d) right angled

A charity surveys the people of a village for their haemoglobin counts. 25 out of 100 adult
females in the village were tested. The result is given in this table.

A haemoglobin counts below 12 is considered deficient. What proportion of females in the
survey can be considered deficient?

Haemoglobin | 5 6 7 8 9 10 1 [ 12 | 13 | 14
(mg/dl) |
counts _ I | |
No. of 3 3 2 5 1 1 | 3 | 4 2 1
| females ; | ) | ‘ ‘ ‘
(@ = (b) = © 5 ()=

ASSERTION-REASON BASED QUESTIONS
In the following questions, a statement of assertion (4) is followed by a statement of
Reason (R). Choose the correct answer out of the following choices.
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A.
(c) A is true but R is false.
(d) A is false but R is true.

Assertion (A): V3 is an irrational number
Reason (R): The sum of a rational and an irrational number is an irrational n umber.

Assertion (A): The graph of the equation 2x + 3y = 1 is a straight line
Reason (R): The equation of y — axisisy =0

SECTION B
(This section comprises of very short answer type-questions (VSA) of 2 marks each)

Write the simplified values of “m’ and ‘n’ if 0 123 is written in the form of % .

OR
Ifx =2 and y = 3, then the value of (x +y* )(x’ = y*)

How many values ‘k ‘can have, if (2, 0) is a solution of the linear equation 2x + 3y —k = 0?
Also write the value or values of ‘k’.

Find the coordinates of location point of ‘orange tree’ in the given figure. Also write the
distances of the locations ‘silver oak tree’ from x — axis and ‘banyan tree’ from y — axis.
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BTy
™ silver Oak
o
E
-
Banyan _Orange
i F) ®
1
71
. Amla Mango
s 4 a1 -2 4 T 1 & 3 a s
-
w4

Find the area of the figure obtained by joining the points A, B and C given in the Cartesian
plane below.

Tz s 4 3
24. In the given figure, find (i) sum of the abscissa of the coordinates of A and C (ii) product of
the ordinates of the points B and D.

¥
L o
8 " »
5+
A
5+
2
i * n
A B
x
S P -
1 2 3 4 B
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25.

26.

27.

28.

29.

30.

In the given figure, BD L AC and CE L AB. If BD = CE =3.5 cm and AB =5 cm, then find
the measure of AC. Justify your answer with proper reasons.

£

A
A

/N

)
o/ \o
’,/)' H"“\\_\‘

2] c

SECTION C
(This section comprises of short answer type questions (SA) of 3 marks each.

Find the value of x that will make POQ a straight line in the given figure. Give proper
reason(s) for your answer. Also find the complement of angle x.

*B
:2:~ + 30»:‘:’1" ‘.31": - ",’Q
S
O
OR

The base BC of triangle ABC is produced both ways and the measures of exterior angles
formed are 94° and 126°. Find the measure of ZBAC.Write proper reason(s) to support
the answer.

The figure below shows an equilateral tringle(shaded) bounded by two straight lines. What is
the sum of the four marked angles? Justify your answer.

”

B_
<1
Sy
/ ;\/ .
P g
S \,\ A
~ -
. 4 /
\\(\

The cost of five pencils is equal to the cost of two ball point pens. Write a linear equation in
two variables to represent the situation by taking the cost a pencil to be Rs. x and that of a
ball point pen to be Rs.y. Also find the cost of 10 pencils, if the cost of a pen is Rs 8.

Three vertices of square ABCD are A (3,2), B (-2,2) and D (3, -3). Plot these points on a
graph paper and hence find the coordinates of C. Also find the area of square ABCD.

Prove that the angles opposite to two equal sides of a triangle are equal.

OR
AB is a line segment and the line /’ is its perpendicular bisector. If a point ‘P’ lies on ‘/’,
show that ‘P’ is equidistant from A and B.
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31.

32.

33.

34.

Construct a frequency polygon for the data given below.

Age(years) | 10-20 20 -30 30 -40 40 - 50 50 - 60 60 - 70 _1
No of " 90 50 60 80 50 30
Patients

SECTIOND

(This section comprises of long answer-type questions (LA) of 5 marks each)

_ Y2+l _y2-1 2,2
Ifx—\/z_1 andy—ﬁ+1,ﬁndthe value of (x* + y* + xy)
OR
1

1
If x =3 + 24/2 ,check whether x + o is rational or irrational. Also find the value of x> — 2

-2
(i) Evaluate: (0.00032)s

.. 230 4229 4228 7
(i) Prove that 313230229 10

In the figure given AABC is isosceles with AB = AC, D and E are points on BC such that
BE = CD. Show that AD =AE.Write proper reason(s) to support your answer.

In the given figure ACDE is an equilateral triangle and ABCD is a square.
Is AADE =ABCE? Write proper reason(s) to support your answer. Also write the ratio of the
area of ACDE to the area of square ABCD.

A i B
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Construct a Histogram for the following data.

'[ Marks 100 - 150 | 150-200 | 200-300 | 300-500 | 500 - 800
| No of Students 60 | 100 100 80 180
SECTION E

(This section comprises of 3 case study/passage — based questions of 4 marks each with
two sub parts. First two case study questions have 3 sub — parts (i), (ii), (iii) of marks
1,1, 2 respectively. The third case study has two sub - parts of 2 marks each.)

The following frequency distribution data shows the weight (in grams) of 30 Apples picked
from a basket. Observe the table and answer the questions given below.

Weight (in grams) No of Apples
60 - 80 3
80 - 100 10
100 - 120 9
120 - 140 5
140 - 160 1
160 - 180 0
180 - 200 1
200 - 220 1 |
Total 30 -

(i) Write the size of class interval in which no apple is available.
(ii) Name any one of the suitable graphical methods to represent the given data.
(iii) What is the number of apples with weight more than or equal to 120g?
OR
Write the class interval in which 100 g weight apples are included and also find its class mark.

Aman bought 5 notebooks and 2 pens for Rs. 120. He told to guess the cost of each notebook
and pen to his friends Ajith and Ashish. Aman has given the clue that both the costs are
positive integers and divisible by 5 such that the cost of a notebook is greater than that of a
pen.

Page 8 of 10



38.

Now, Ajith and Ashish tried to guess. Ajith said that price of each notebook could be Rs. 18.
Then five notebooks would cost Rs.90, the two pens would cost Rs.30 and each pen could be
for Rs. 15. Ashish felt that Rs. 18 for one notebook was too little. It should be at least Rs. 20.
Then the price of each pen would also be Rs.10.
(i) Form a linear equation in two variables from this situation by taking cost of one notebook
as Rs. x and cost of one pen as Rs. y.
(ii) If the cost of one notebook is Rs. 25 and cost of one pen is 15, then find the total amount.
(iii) What is the standard form of the equation y = 6 as a linear equation in two variables?
OR
Geometrically what do you mean by the cost of a notebook and the cost of a pen in the
given situation?

A plot is divided into different polygonal regions by using straight fences AB, CD and OE as
shown in the figure, where O is the meeting point of all the three fences. As per the angles
marked in the figure, answer the questions given below.

A=

<

\ O
2z

4v/f/( ] X
60\ ¥
C E -

(i) What is the value of x?
(ii))What is the value of z?
(iii) What should be the value of x + 3z?
OR

Is 2y +z=90° ? Justify.

****END OF THE QUESTION PAPER****
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GENERAL INSTRUCTIONS:

. This Question Paper has 5 Sections A, B, C, D and E.
. Section A has 20 MCQs carrying 1 mark each
. Section B has 5 questions carrying 02 marks each.

. Section D has 4 questions carrying 05 marks each.

1
2
3
4. Section C has 6 questions carrying 03 marks each.
5
6

: 3 HRS.

MAXIMUM MARKS: 80

. Section E has 3 case based integrated units of assessment (04 marks each) with sub- parts of the values of

1, 1 and 2 marks each respectively.
7. All Questions are compulsory. However, an internal choice in 2 Qs of 5 marks, 2 Qs of 3 marks and 2

Questions of 2
marks have been provided. An internal choice has been provided in the 2marks questions of Section E

8. Draw neat figures wherever required.

SECTION A (Multiple Choice Questions)
Each question carries 1 mark

If one angle of a triangle is equal to sum of the other two angles, then the triangle is
(a) isosceles (b) obtuse angled (¢) equilateral (d) right angled

In AABC and A PQR, it is given that AB = AC, £C = £P and £B = £ Q. Then, the two
triangles are

(a) isosceles but not congruent (b) isosceles and congruent

(c)congruent but not isosceles (d)neither congruent nor isosceles

If the angles of a triangle are (x —40° ), (x —20° ) and ( ;—C - 10°) then find the value of x.

(2)100° (b)80° () 50° (d) 60°

Page 1 of 10



The value of (XP~9)(x97" ) (x"7P)is equal to

(@) 0 (b) 1

() x

The graph of the line y = -3 does not pass through the point

(a) (2,-3) (b)(3.-3)

() (0,-3)

(d)-1

(d(-3,2)

A charity surveys the people of a village for their haemoglobin counts. 25 out of 100 adult

females in the village were tested. The result is given in this table.

A haemoglobin counts below 12 is considered deficient. What proportion of females in the

survey can be considered deficient?

| Haemoglobin | 5 6 | 7 8 | 9 10 [ 11 12 [ 13 | 14
(mg/dl)
“counts _
No. of 3 3 2 | 5 1 1 3 4 2 1
females |
3 4 18 22
(@ (b) ()5 D
In the given figure the mirror image of the point A with respect to y — axis is
\k\ Al-6, 8) ":
3x*3y=?&&\ *
\\‘\\
~S._.B(3,2)
3| “\H ;
" E VAEREEEY CRE

‘ .,

' \‘
() (6,-8) (b) (6,8) () (-6,-8) (d)(-6, 8)
If (33)2 = 9% ,then 5% =7
(a 1 by 5 () 25 (d) 125

1,

If V2 = 1.41, then —=is
(a) 0.075 (b) 0.75 (c) 0.705 (d) 7.05
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10.

11.

12.

13.

14.

15.

Five friends Anchal, Amisha, Mahi, Vishnu and Sagar are living in a hostel. At the end of
every month, they calculate the expenses on food and shopping. The table given below shows
their monthly expenses for the month of November. Which graphical representation method
would best represent the data given?

( Name : Anchal | Amisha Mahi Vishnu Sagar

| Expenditure (inRs) | 3000 | 5000 6000 4500 7000

(a) Histogram (b) Bar graph (c¢) Frequency Polygon (d) None of these
1.
If x =7 + 4+/3 ,then (x+;) is

(@) 83 (b) 14 (c) 49 (d) 48
The point of the form (a, -a), a # 0 lies on
(a)the x- axis (b) the y — axis (c)the line y = x (d) the linex +y =0

In the given figure, write the co-ordinates of the midpoint of the diagonal DB.

~!.luy

A

xL
Nl
(a) (0,0) (b) (-1,0) (c)(0,-1) (d) (1,1
Ifx= g and % =p /7 ,then the value of p is
@ = (b) = ©= (&)=

In a Cartesian plane, what are the coordinates of a point P that is 3 units to the left of origin
and 2 units below the origin?

() (3,2) (®) (-3,2) (¢) (-3,-2) (d)3,-2)
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16.

17.

18.

19.

20.

21.

An angle is equal to one fourth of its supplement. Find its measure?

(a) 60° (b) 30° (c) 18° (d) 36°
If AABC = A PQR ,then which of the following is not true?

(a) BC=PQ (b) AC =PR (¢) BC = QR (d) AB =PQ

From the graph identify the class marks of the time intervals whose scores are level

Score | B 7
points

Myt

¢ 5 10 1520 25 30

Time interval
(a) 17,125 (b) 12,17.5 (c) 12.5,15,5 (d)12.5,17.5

ASSERTION-REASON BASED QUESTIONS
In the following questions, a statement of assertion (A) is followed by a statement of
Reason (R). Choose the correct answer out of the following choices.

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.
(c) A is true but R is false.

(d) A is false but R is true.

Assertion (A): The graph of the equation 2x + 3y = 1 is a straight line
Reason (R): The equation of y —axisisy =0

Assertion (A): \/3 is an irrational number
Reason (R): The sum of a rational and an irrational number is an irrational n umber.

SECTION B
(This section comprises of very short answer type-questions (VSA) of 2 marks each)

Find the coordinates of location point of ‘orange tree’ in the given figure. Also write the
distances of the locations ‘silver oak tree’ from x — axis and ‘banyan tree’ from y — axis.
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By
1 silver Oak
af
Banyan i _Orange
- 4 %
3
Amla Mango
s % 3 3 o P 1 3 4 s
-4
-2
=3
OR
Find the area of the figure obtained by joining the points A, B and C given in the Cartesian
plane below.
¥
C
8t "
st
p
3
1 = L
A B
1 Ed
1 2 3 4 5

22. In the given figure, BD L AC and CE L AB. If BD = CE =3.5 cm and AB = 5 cm, then find
the measure of AC. Justify your answer with proper reasons.

23. The graph of the equation y = 3x is given below. From the graph, find
(Dthe value of y, when x = -3 (ii) the value of x, when y = 3
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24.

25.

26.

27.

28.

29.

Write the simplified values of “m’ and ‘n” if 0 123 is written in the form of % .
OR
Ifx=2and y = 3, then the value of (X’ +y* (¥’ — y*)

If the coordinates of a point M are (-2,9), which can also be expressed as (1+s, t2)and t > 0,
then find the coordinates of P (2s, -3t) and Q (s*, 1- t).

SECTION C
(This section comprises of short answer type questions (SA) of 3 marks each)

Prove that the angles opposite to two equal sides of a triangle are equal.

OR
AB is a line segment and the line ‘7’ is its perpendicular bisector. If a point ‘P’ lies on /’,
show that ‘P’ is equidistant from A and B.

Construct a frequency polygon for the data given below.

Age(years) 10-20 20-30 30-40 40 - 50 50 - 60 60 -70

No of 90 50 60 80 50 30
Patients

Ravi took a cab to go to his office. The cab fare is as follows: for the first kilometre, the fare
is Rs 50 and for the subsequent distance it is Rs 10 per kilometre. Take the distance covered
as x km and total fare as Rs y, form a linear equation in two variables. If Ravi covered 7 km
then how much fare he has to pay?

The figure below shows an equilateral tringle(shaded) bounded by two straight lines. What is
the sum of the four marked angles? Justify your answer.

\<ﬁ,’

C ™~
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30. Find the value of x that will make POQ a straight line in the given figure. Give proper
reason(s) for your answer. Also find the complement of angle x.

¢B‘

/

l.‘ L
o erorfay
= e | L o

OR

The base BC of triangle ABC is produced both ways and the measures of exterior angles
formed are 94° and 126°. Find the measure of ZBAC.Write proper reason(s) to support
the answer.

31. (i) What is the relationship between point P and point P’ in the given graphical representation
of the points?
(ii) If the points P, P’, Q, Q" are four corners of a cricket practice field, name the shape of the
field and hence find the area of the field in square units.

8
Y aen
8
Pl-3,2)
i x
-6 -4 i 2 4 8
P'f,'3r23
-8
Q'fz:'ﬂ
-8
SECTIOND

(This section comprises of long answer-type questions (LA) of S marks each)

32. In the figure given AABC is isosceles with AB = AC, D and E are points on BC such that
BE = CD. Show that AD =AE. Write proper reason(s) to support your answer.
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In the given figure ACDE is an equilateral triangle and ABCD is a square.
Is AADE =ABCE? Write proper reason(s) to support your answer. Also write the ratio of the
area of ACDE to the area of square ABCD.

A _ B

33 . 1 1 1 1
. . + =
(i) Prove that: s N2 + NG + N®)
2714 2%
(i1) Simplify: Jxt1_ %
34. Construct a Histogram for the following data. _
Age (in 1-2 2-3 3-5 5-7 7-10 10-15 15-17
years)
No of 5 3 6 12 9 10 4
children _
35. VZ+1 _V2-1 s o
Ifx= N andy = TR find the value of (x” + y* + Xy)

OR

1 1
If x = 3 + 2v/2 ,check whether x + ; is rational or irrational. Also find the value of x> — =
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36.

37.

SECTION E
(This section comprises of 3 case study/passage — based questions of 4 marks each with
two sub parts. First two case study questions have 3 sub — parts (i), (ii), (iii) of marks
1,1, 2 respectively. The third case study has two sub - parts of 2 marks each.)

Aman bought 5 notebooks and 2 pens for Rs. 120. He told to guess the cost of each notebook
and pen to his friends Ajith and Ashish. Aman has given the clue that both the costs are
positive integers and divisible by 5 such that the cost of a notebook is greater than that of a

pen.

Now, Ajith and Ashish.tr_i"e_d_ to _éuesé. Ajith said that price of each notebook could be Rs. 18.
Then five notebooks would cost Rs.90, the two pens would cost Rs.30 and each pen could be
for Rs. 15. Ashish felt that Rs. 18 for one notebook was too little. It should be at least Rs. 20.

Then the price of each pen would also be Rs.10.
(i) Form a linear equation in two variables from this situation by taking cost of one notebook

as Rs. x and cost of one pen as Rs. y.
(ii) If the cost of one notebook is Rs. 25 and cost of one pen is 15, then find the total amount.
(iii) What is the standard form of y = 6 as a linear equation in two variables?
OR
Geometrically what do you mean by the cost of a notebook and the cost of a pen in the
given situation?

A plot is divided into different polygonal regions by using straight fences AB, CD and OE as
shown in the figure, where O is the meeting point of all the three fences. As per the angles
marked in the figure, answer the questions given below.

D.

" g
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(i) What is the value of x?
(i1)What is the value of z?
(iii) What should be the value of x + 3z?
OR

Is 2y +z=90° ? Justify.

The following frequency distribution data shows the weight (in grams) of 30 Apples picked
from a basket. Observe the table and answer the questions given below.

Weight (in grams) No of Apples

60 - 80 3

80 - 100 10

100 - 120 9

. 120-140 5
140 - 160 1

160 - 180 0

180 - 200 1

200 - 220 1
Total 30

(i) Write the size of class interval in which no apple is available.
(ii)Name any one of the suitable graphical methods to represent the given data.
(iii) What is the number of apples with weight more than or equal to 120g?
OR
Write the class interval in which 100 g weight apples are included and also find its class mark.

****END OF THE QUESTION PAPER****
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) MATHEMATICS-(041/241)
CLASS : IX TIME ALLOTED : 3 HRS.
DATE: 25-09-2023 MAXIMUM MARKS: 80
GENERAL INSTRUCTIONS:

1. This Question Paper has 5 Sections A, B, C, D and E.

2. Section A has 20 MCQs carrying 1 mark each

3. Section B has 5 questions carrying 02 marks each.

4. Section C has 6 questions carrying 03 marks each.

5. Section D has 4 questions carrying 05 marks each.

6. Section E has 3 case based integrated units of assessment (04 marks each) with sub- parts of the values of

1, 1 and 2 marks each respectively.

7. All Questions are compulsory. However, an internal choice in 2 Qs of 5 marks, 2 Qs of 3 marks and 2
Questions of 2 marks have been provided. An internal choice has been provided in the 2marks questions of
Section E

8. Draw neat figures wherever required.

SECTION A (Multiple Choice Questions)
Each question carries 1 mark

1. Five friends Anchal, Amisha, Mahi, Vishnu and Sagar are living in a hostel. At the end of 1
every month, they calculate the expenses on food and shopping. The table given below shows
their monthly expenses for the month of November. Which graphical representation method
would best represent the data given?

Name Anchal | Amisha Mahi Vishnu Sagar T
 Expenditure (in Rs) 3000 ’ 5000 6000 4500 7000 |

(a) Histogram (b) Bar graph (c) Frequency Polygon (d) None of these

2. If AABC = A PQR ,then which of the following is not true? 1
(a) BC=PQ (b) AC=PR (c)BC=QR (d) AB=PQ

3. An angle is equal to one fourth of its supplement. Find its measure? 1
(a) 60° (b) 30° (c) 18° (d) 36°
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10.

11.

12.

In a Cartesian plane, what are the coordinates of a point P that is 3 units to the left of origin
and 2 units below the origin?

(@ (G,2) (b) (-3,2) (c) (-3,-2) (d) (3,-2)
Ifx= g and z =p /7 ,then the value of p is

(@) (b) = ©= ()=

If one angle of a triangle is equal to sum of the other two angles, then the triangle is

(a) isosceles (b) obtuse angled (¢) equilateral (d) right angled
The graph of the line y = -3 does not pass through the point

(a) (2,-3) (b) (3 .-3) (c) (0.-3) (d(-3.2)
The point of the form (a, -a), a # 0 lies on

(a)the x- axis (b) the y — axis (c)the liney = x (d) the linex+y =0
Ifx =7 +4v/3 then (x + i )is

(a) 83 (b) 14 (c) 49 (d) 48

A charity surveys the people of a village for their hacmoglobin counts. 25 out of 100 adult
females in the village were tested. The result is given in this table.

A haemoglobin counts below 12 is considered deficient. What proportion of females in the
survey can be considered deficient?

'Haemoglobin | 5 6 | 7 8 9 10 11 | 12 | 13 14

(mg/dl)

_counts _ !

No. of 3 3 2 5 1 1 3 ‘ 4 2 1

| females !
3 4 18 22

@ o (b) 5 © )5

IfV2 =1.41, thenj—i- is

(a) 0.075 (b) 0.75 (¢) 0.705 (d) 7.05

If (33)2 =9* ,then 5% =?

(@) 1 () 5 ) 25 (d) 125
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13.

14.

15.

16.

17.

18.

In the given figure the mirror image of the point A with respect to y — axis is

R
\\\‘ i
\“‘\ A‘_G ¥ 3)

\‘\‘-\

Ix+ 3;:}*\

afl
ol S
V. i

(@) (6,-8) (b) (6.8) () (-6,-8) _ (d)(-6, 8)

From the graph identify the class marks of the time intervals whose scores are level

- '! -

Score | B =

points | | -

Frle

- 100 T4 &
O 10 1520 25 30

Time interval
(a) 17,125 (b) 12,17.5 (c) 12.5,15,5 (d)12.5,17.5

The value of XxP™4, X977 .x" 7P is equal to

(& 0 b) 1 (¢) x (d) -1

If the angles of a triangle are (x —40°), (x — 20° ) and ( § - 10°) then find the value of x.
(a)100° (b)80° (c) 50° (d) 60°

In AABC and A PQR, it is given that AB = AC, 2C = £P and £B = £ Q. Then, the two
triangles are

(a) isosceles but not congruent (b) isosceles and congruent
(c)congruent but not isosceles (d)neither congruent nor isosceles

In the given figure, write the co-ordinates of the midpoint of the diagonal DB.
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19.

20.

21.

ﬂ.my

(a) (0,0) (b) (-1,0) ()(0,-1) (d) (1.1)

ASSERTION-REASON BASED QUESTIONS
In the following questions, a statement of assertion (A) is followed by a statement of
Reason (R). Choose the correct answer out of the following choices.
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A.
(c) A is true but R is false.
(d) A is false but R is true.

Assertion (A): \/3 is an irrational number
Reason (R): The sum of a rational and an irrational number is an irrational n umber.

Assertion (A): The graph of the equation 2x + 3y = 1 is a straight line
Reason (R): The equation of y — axisisy =0

SECTION B
(This section comprises of very short answer type-questions (VSA) of 2 marks each)

In the given figure, BD L AC and CE L AB. If BD = CE =3.5 cm and AB =5 cm, then find
the measure of AC. Justify your answer with proper reasons.

A
/\
Aot
=

2] C
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22. oy
54
] X
..... AJ = i
5 5 10
-5+ Lme 1
In the given figure
(i) What is the equation of line 17
(ii) What is the equation of line 27
23. In a Cartesian plane a child is standing at certain point P and his mother is standing at a point
O. The coordinates of point O are (0,0).
st¥
o}
P
3 -
4
o . .
5 -z B A S T S S
-2
What is the distance between the child and his mother?
24. Find the coordinates of location point of ‘orange tree’ in the given figure. Also write the
distances of the locations ‘silver oak tree’ from x — axis and ‘banyan tree’ from y — axis.
BTy
1 silver 0ak
ol
Banyan > _Orange
T 2 %
|
amla | Mango ,
54‘3-21":;;1;5_5
-2
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25.

26.

27.

28.

29.

OR
Find the area of the figure obtained by joining the points A, B and C given in the Cartesian

plane below.
¥

C
&t ®
5
I
3t
2-
4 " »
b B
- x
| + 4 + —
= 1 1 3 4 5

Write the simplified values of “m’ and ‘n” if 0 123 is written in the form of %1-
OR
If x =2 and y = 3, then the value of(XeryX )(Xy - yX )

SECTION C
(This section comprises of short answer type questions (SA) of 3 marks each)

Prove that the angles opposite to two equal sides of a triangle are equal.
OR

AB is a line segment and the line ‘7’ is its perpendicular bisector. If a point ‘P” lies on ‘r,
show that ‘P’ is equidistant from A and B.

The cost of book (x) exceeds twice the cost of pen (y) by 10 rupees. Express this statement as
a linear equation in two variables. Also write the equation of two lines passing through the
point (2,3).

Construct a frequency polygon for the data given below.

Age(years) | 10-20 20-30 30-40 40 - 50 50-60 60 - 70
No of 90 50 60 80 50 30
| Patients B ]

Find the value of x that will make POQ a straight line in the given figure. Give proper

reason(s) for your answer. Also find the complement of angle x.
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30.

31.

32.

33.

34.

35.

—

P

OR

The base BC of triangle ABC is produced both ways and the measures of exterior angles
formed are 94° and 126°. Find the measure of ZBAC.Write proper reason(s) to support
the answer.

The figure below shows an equilateral tringle(shaded) bounded by two straight lines. What is
the sum of the four marked angles? Justify your answer.

Ping a| //
3

Three vertices of square ABCD are A (3,2), B (-2,2) and D (3, -3). Plot these points on a
graph paper and hence find the coordinates of C. Also find the area of square ABCD.

SECTION D
(This section comprises of long answer-type questions (LA) of S marks each)

Draw a Histogram to represent the following data.

Class interval 10-14 | 14-20 20-32 32-52 52-80 |
Frequency 5 6 9 25 21 |
V241 _2-1 )
Ifx= N andy = TR find the value of (x* + y* + xy)
OR

1 1
If x = 3 + 2+/2 ,check whether x + o is rational or irrational. Also find the value of x> — =

-2
(i) Evaluate: (0.00032)s

1 1 1 1
3+\/7+\/7+\/§ +\/§+\/§ + V3+1

(i1) Prove that:

In the figure given AABC is isosceles with AB = AC, D and E are points on BC such that
BE = CD. Show that AD =AE.Write proper reason(s) to support your answer.
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36.

In the given figure ACDE is an equilateral triangle and ABCD is a square.
Is AADE =ABCE? Write proper reason(s) to support your answer. Also write the ratio of the
area of ACDE to the area of square ABCD.

A

SECTION E
(This section comprises of 3 case study/passage — based questions of 4 marks each with
two sub parts. First two case study questions have 3 sub — parts (i), (ii), (iii) of marks
1,1, 2 respectively. The third case study has two sub - parts of 2 marks each.)

Aman bought 5 notebooks and 2 pens for Rs. 120. He told to guess the cost of each notebook
and pen to his friends Ajith and Ashish. Aman has given the clue that both the costs are
positive integers and divisible by 5 such that the cost of a notebook is greater than that of a

pen.
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37.

38.

Now, Ajith and Ashish tried to guess. Ajith said that price of each notebook could be Rs. 18.
Then five notebooks would cost Rs.90, the two pens would cost Rs.30 and each pen could be
for Rs. 15. Ashish felt that Rs. 18 for one notebook was too little. It should be at least Rs. 20.
Then the price of each pen would also be Rs.10.

(i) Form a linear equation in two variables from this situation by taking cost of one notebook

as Rs. x and cost of one pen as Rs. y.
(ii) If the cost of one notebook is Rs. 25 and cost of one pen is 15, then find the total amount.

(iii) What is the standard form of y = 6 as a linear equation in two variables?
OR
Geometrically what do you mean by the cost of a notebook and the cost of a pen in the
given situation?

A plot is divided into different polygonal regions by using straight fences AB, CD and OE as
shown in the figure, where O is the meeting point of all the three fences. As per the angles
marked in the figure, answer the questions given below.

(i) What is the value of x?
(ii))What is the value of z?
(iii) What should be the value of x + 3z?
OR
Is 2y + z=90° ? Justify.
The following frequency distribution data shows the weight (in grams) of 30 Apples picked
from a basket. Observe the table and answer the questions given below.
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Weight (in grams) No of Apples

60 - 80 3

80 - 100 10

100 - 120 9

120 - 140 5

140 - 160 1

160 - 180 0

180 - 200 1

200 - 220 1
Total 30

(i) Write the size of class interval in which no apple is available.
(ii)Name any one of the suitable graphical methods to represent the given data.
(iii) What is the number of apples with weight more than or equal to 120g?
OR
Write the class interval in which 100 g weight apples are included and also find its class mark.

****END OF THE QUESTION PAPER****
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